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Topics- Subtraction, Multiplication, Division, Shapes and Tables 
 

Name ______________            Sec.       ___________ 
Class II                                      Roll no. ___________ 
Q1. Fill in the blanks. 
1. Division means to divide ________________. 
2. Subtraction means counting ______________. 
3. In 8÷4 =2, 8 is __________, 4 is __________ and 2 is _________. 
4. All sides of a _________________ are equal. 
5. Cuboid is a figure made of __________________. 
Q2. Solve 
2.     H  T  O   2.      H  T  O  3.     36÷6    
        9   2   3            2   4   8 
      - 5   6   7            x        3 
 
 
3. Name the given shape, label its parts and give one example of each. 
 
  
 
 
 
 
Name      ___________    Name      ____________ 
Example ___________    Example ____________ 
 
Q4. Complete the grid 
 

  
   

Q5. State true or false 
1. Three cuboids have 18 faces. (     ) 
2. 7 tens taken away from 9 tens is 2 tens. (     ) 
3. 35 can divided by 5 and 6. (     ) 
 
 
 
 

 - 5 
75  

291  
357  
605  

X 9 
4  
6  
7  
9  

÷ 5 
5  

15  
30  
25  



Q6. Match the column. 
 
1.  18÷3   70 + 11 (    ) 
2.   7 x 7     3 x 4     (    ) 
3. 3 + 3 + 3 + 3 6    (    ) 
4.  88 - 7   50 - 1    (    ) 
 
Q7. Tick the correct option. 
 
1. 24 x 6 is equal to :  
a) 244  b) 144 c) 114 
2. When 20÷4, the quotient is : 
a) 3  b) 5  c) 2 
3. The difference between the smallest 3 digit number and the smallest 2 digit 
no. is     (100 - 10) 
a)  90  b)  99  c)  109 
Q8. Mental Maths 
1. Half of 20 apples is _____________. 
2. 12÷ 3 =4 is reverse of _________×_______. 
3. Four cylinders have ____________________ faces. 
4. Which number multiplied by itself given 81 ? ____________________ 
5. What should be added 980 to make it 1000 ?___________________ 
Q9. Dodging of tables. 
1. 9 x ______ = 36 
2. 8 x 8 = _____ 
3. 3 + 3 + 3 + 3 ____ x ____ 
Q10. Put the correct sign (> < =) 
1. 7 x 7 _________ 5 x 9 
2. 1000 __________ 990 + 10 
3. 7 tens _________ 9 tens 
Q11. Problem solving  
Q1. There are 398 packets of biscuits in a blanket. 170 packets are sold by a 
shopkeeper. How many packets are left ? 
_______________________________________________________________ 
_______________________________________________________________ 
_______________________________________________________________ 
_______________________________________________________________ 
Q2. 45 berries are to be given equally to 5 children. How many berries does 
each child get ? 
_______________________________________________________________ 
_______________________________________________________________ 
_______________________________________________________________ 
_______________________________________________________________ 


